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Transformations: True or  false

	1. B is a reflection of A

True Go to 13

False Go to 20
	
	2. The mirror line from D to E is x = -3

True Go to 14

False Go to 18

	3. G is a translation from B

True Go to 5

False Go to 8
	
	4. The centre of enlargement from F to H is (2, 0)

True Go to 10

False Go to 12

	5. Rotate F by 90o anticlockwise around centre (5, -4)  to obtain G 

True Go to 1

False Go to 3
	
	6. E is a rotation from G 

True Go to 13

False Go to 17

	7. E is a reflection of D

True Go to 2

False Go to 4
	
	8. F is a rotation from E

True Go to 3

False Go to 14

	9. A is a translation from C

True Go to 19

False Go to 15
	
	10. The scale factor of an enlargement cannot be less than one 

True Go to 7

False Go to 6

	11. F is obtained by rotating G

True Go to 5

False Go to 2
	
	12. H is an enlargement from F

True Go to 16

False Go to 10

	13. The mirror line from A to B is x = 3

True Go to 7

False Go to 8
	
	14. The vector to translate D to G is    10

                                                               -1

True Go to 1

False Go to 18

	15. The mirror line to reflect B to C is      x = -2

True Go to 6

False Go to 20
	
	16. The scale factor from H to F is 2   

True Go to 11

False Go to 4

	17. The centre of rotation from D to B is (1.5, -1.5)   

True Go to 1

False Go to 19
	
	18. F is a reflection of G

True Go to 17

False Go to 9

	19. The vector to translate A to C is   –9

                                                               0

True Go to 11

False Go to 16
	
	20. The mirror line from C to D is y = 1.5 

True Go to 12

False Go to 9


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	








